PRACTICE 4F

Find the value of each of the following:
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3x9 O x 4 9x5 9%x9
27 + 9 36+ 9 45 + 9 81+ 9
36 x9 9 x 400 657 x 9 198 x 9

954 ~ 9 563 =~ 9 790 = 9 823+ 9

Mary bought 9 pieces of string each 18 m long.
How many metres of string did she buy?

25 boys went camping.
Each boy brought 9 cans of food.
How many cans did they bring altogether?

Gopal bought 9 T-shirts for $144.
How much did one T-shirt cost?

David cut a wire 918 m long into pieces.
Each piece was 9 m long.
How many pieces did he get?

Hassan uses 185 ¢ of petrol a month.
How much petrol does he use in 9 months?

A tailor bought 9 packets of buttons.

There were 120 buttons in each packet.

He used 8 buttons on a dress.

How many dresses did he make if he used all the buttons?

Meihua bought 27 apples at 3 for $2.
How much did she pay in all?
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PRACTICE 4G

Find the value of each of the following:
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(a) (b) (©) (d)

9 x6 7 x 10 8 x 8 6 x6

54 + 6 70 ~ 7 64 + 8 36 + 6
69 x 8 1Tx9 0x9 901 x 6

. 581+ 69 O+ 1 0+ 9 749 - 7

Mrs Wang gives each of her children $7.
If she gives a total of $28 to her children, how many
children does she have?

A tank holds 126 litres.
A pail holds 9 litres.
How many pails of water will fill up the tank?

Mingfa worked for 7 days.
He was paid $36 each day.
How much money did he receive?

There are 136 roses.

There are 6 times as many sunflowers
as roses.

How many sunflowers are there?

Mr Lin had 112 tomatoes.

8 of them were rotten.

He packed the good tomatoes into packets of 8 each.
How many packets of tomatoes did he get?

There were 8 stamps in a set.

Gopal bought 120 sets of stamps.

After selling some stamps, he had 680 stamps left.
How many stamps did he sell?
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